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The answer is 7382. What could the question be?

1.	 Write 10 number sentences using addition and subtraction that would give the 
answer above. Use numbers that are at least 3 and 4 digits.

2.	 Write a word problem that would give the answer above.
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The answer is 12 549. What could the question be?

1.	 Write 10 number sentences using addition and subtraction that would give the 
answer above. Use numbers that are at least 4 and 5 digits.

2.	 Write a word problem that would give the answer above.
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The answer is 148 394. What could the question be?

1.	 Write 10 number sentences using addition and subtraction that would give the 
answer above. Use numbers that are at least 5 and 6 digits.

2.	 Write a word problem that would give the answer above.
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